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Item 
Position Item Type TEKS 

Assessed 

Maximum 
Number 
of Points 

Correct 
Answer(s) 

Reporting 
Category 

Readiness 
and 

Supporting 

1 Multiple 
Choice B.6(A) 1 C 2 Readiness 

2 Multiple 
Choice B.12(C) 1 B 5 Readiness 

3 Multiple 
Choice B.10(C) 1 B 4 Supporting 

4 Multiple 
Choice B.7(E) 1 A 3 Readiness 

5 Multiple 
Choice B.6(F) 1 B 2 Readiness 

6 Multiple 
Choice B.11(B) 1 D 5 Readiness 

7 Hot Spot B.5(A) 1 See Appendix 
1.1 1 Readiness 

8 Multiple 
Choice B.10(B) 1 C 4 Readiness 

9 Multiple 
Choice B.5(C) 1 A 1 Supporting 

10 Multiple 
Choice B.10(A) 1 D 4 Readiness 

11 Multiple 
Choice B.12(D) 1 B 5 Supporting 

12 Multiple 
Choice B.4(C) 1 C 1 Readiness 

13 Multiple 
Choice B.6(E) 1 B 2 Readiness 

14 Multi Part B.12(E) 2 D, D 5 Readiness 



15 Multiple 
Choice B.11(A) 1 C 5 Supporting 

16 Multiple 
Choice B.8(B) 1 D 3 Readiness 

17 
Short 

Constructed 
Response 

B.4(B) 2 See Appendix 
1.2 1 Readiness 

18 Multiple 
Choice B.9(A) 1 B 4 Readiness 

19 Multiple 
Choice B.7(A) 1 D 3 Readiness 

20 Drag and 
Drop B.7(B) 2 

4 
See Appendix 

1.3 
3 Supporting 

21 Multiple 
Choice B.6(D) 1 A 2 Supporting 

22 Drag and 
Drop B.9(B) 2 

Cellular 
respiration, 

Photosynthesis, 
Photosynthesis, 

Cellular 
respiration 

See Appendix 
1.4 

4 Supporting 

23 Multiple 
Choice B.4(A) 1 A 1 Supporting 

24 Multiple 
Choice B.6(C) 1 B 2 Supporting 

25 Multiple 
Choice B.11(B) 1 D 5 Readiness 

26 
Short 

Constructed 
Response 

B.12(A) 2 See Appendix 
1.5 5 Readiness 

27 Multiple 
Choice B.5(A) 1 A 1 Readiness 

28 Multiple 
Choice B.6(F) 1 A 2 Readiness 



29 Multiple 
Choice B.4(B) 1 B 1 Readiness 

30 Multiple 
Choice B.4(C) 1 D 1 Readiness 

31 Multi Part B.10(A) 2 A, A 4 Readiness 

32 Drag and 
Drop B.6(A) 2 

Base pair, 
Nucleotide, 
Phosphate 

See Appendix 
1.6 

2 Readiness 

33 Multiple 
Choice B.7(F) 1 B 3 Supporting 

34 Multiple 
Choice B.7(D) 1 D 3 Supporting 

35 Multiple 
Choice B.8(C) 1 A 3 Supporting 

36 Text Entry B.6.G 1 
15 

See Appendix 
1.7 

2 Supporting 

37 Multiple 
Choice B.9(C) 1 C 4 Supporting 

38 Multiple 
Choice B.12(A) 1 D 5 Readiness 

39 Multiple 
Choice B.12(B) 1 A 5 Supporting 

40 Multiple 
Choice B.12(E) 1 C 5 Readiness 

41 Hot Spot B.9(A) 1 See Appendix 
1.8 4 Readiness 

42 Multiple 
Choice B.5(B) 1 B 1 Supporting 

43 Drag and 
Drop B.6(B) 2 

Triplet, 
amino acid 

See Appendix 
1.9 

2 Supporting 



44 Multiple 
Choice B.8(B) 1 B 3 Readiness 

45 Multiple 
Choice B.7(E) 1 D 3 Readiness 

 
  



STAAR Spring 2024 Biology  
Appendix 

1.1 

 
 

1.2 

 

Active transport is used in the process. AND The movement of sodium and potassium 
ions requires energy (ATP) because they need to be pumped against their concentration 
gradient from an area of low concentration to an area of high concentration. 
 

  

Dogs have 39 pairs of ch romosom es in their som atic ce lls. I n which part of th e ce ll a re t hese ch romosomes 

replica t ed du ring t he ce ll cycle? 

Se lect O N E correct answer. 

8 

I n an im al ce lls, the sod ium -potassium pump m oves sodium and potassium ions against a co ncentration gradient 
across t he ce ll mem brane. 

What ty pe of transport is used, AND why is t h is type of t ransport necessary? 

Read t he question carefu lly. Then enter your answers in t he box prov ided . 



1.3 

 

 
OR 
 

 
 
1.4 
 

 

  

Scientists can use the fossil record to determine changes in ain environment . What does t he abrupt appearance of 
new organisms show? 

Move the correct answer to each box. 

The abrupt appearance of new organisms is evidence of i an increase in biodiversity i and 
, _ - - - - - - - - - - - - - - - - - - - - - - -- - - - - - - - - - - - - - - - - - . 4 

i an unstab le environment : . 
, ________ --------------------------- ------ ' 

The abrupt appearance of new organisms is evidence of i an unstable environment : and 
·----------------------------------------- · 

[ an increase in biod iversity i. 
·----------- --------------------------------· 

A student is making a table to descr ibe t he processes of photosynthesis and cellular respiration. Complete t he table 
by identify ing which process causes each result shown in the table. 

Move the correct answer to each box. Each answer may be used more than o)nce. 

  

Result Process 

Carbon dioxide is released to the at mosphere. [ Cellular respiration ! 
·------------·------·-------·----· 

tnergy 1s stored In carbon compounds. 
! PhotosynthP.s i~ i 
·---------·------·-------·-' 

Carbon dioxide is removed from the atmosphere . 
! Photosynthesis ! 
·---------·------·-------·-' 

Energy is released from carbon compounds . [ Cellular_ respiration _j 



1.5 
 

 
 
The student should describe example 1 as mutualism. The bees are benefiting by getting 
food (energy and nutrients) from the flowers. The flowering plants are benefiting by 
being pollinated (or cross-pollinated) resulting in fertilization or seed production (or 
increased biodiversity). AND The student should identify example 2 as commensalism. 
Orchids benefit from getting improved access to essential resources such as sunlight, 
water, and nutrients. The host plant/tree neither benefits nor is harmed by the presence 
of the orchids. 
  

Ecological relationships occur between two species t hat live close t o each other. Two exam ples of ecological 
relationships are described. 

• Ex ample 1: Bees gat her nectar and pollen from flower ing plants, providing food fo r the bees. As the bees move 

to diffe rent flowers, some of the pollen attached to t he bees' bodies is spread an d released . If the pollen fa lls on 
the flower of a plant of t he sam e species, it m ay fert ilize t he plant and produce seeds . 

• Ex ample 2 : Orchids are fl ower ing plants that grow on ot her plants. They typically grow in ta ll trees high in the 
canopy, where t hey can reach sunlight fo r photosyn thesis. They get water and nutrients from ra inwater runoff 
that carr ies organic material down the host plant 's branches. No water or nutrients are taken from the host 
plant . 

What is the main difference between the ecological relationships described in the two exam ples? Include t he 
scientific term used to define each of the relationships . 

Think about the question carefully. Then enter your answer in the box provided. 



1.6 

 
 
 
1.7 
 

 
 
  

I denti fy the com ponents of DNA. 

Move t he correct answer to each box. Not all answers wi ll be used . 

 
    

    
 

5' 3' 

Base pair 

Nucleot ide 
C 

C G 

A T 

Phosphate 

3' 5' 

G i1a fft1s ( Giraffd coi11f::!ioµardalis ) hav~ 30 d 1r tH WJSLH111::s i11 Ll u:'ir s u 111c1 t ic L·1::ll s . Huw 11 1c1riy d 1u .l111 L1~0 111~~ will t-cu..:1 1 

duughtcr cell huvc ufter the final step of mc1os1s°/ 

enter '/OUr unswer in t he box. Your answer must be a whole number. 



1.8 
 

 
 
1.9 
 

 

A student athlete wants to choose a dr ink that will provide quick energy fo r track practice. Which portion of t he label 
should provide the athlete wit h information about t he amount of quick energy in the drink? 

Select ONE correct answer. 

Nutrition Facts 
serving Size 8.0 n. oz (240ml) 

Serving Per Cont.tincr 2 

AMOurtlPet" Pel"$ "°iOV" 1¥~ -· Se1vlng 0.N 

Ca.lorles llO 220 
I Total fat Oq 0% 00 °" 
~~ .• ~~-~~~i -~ 

ou-1 t::,,r, 

Protein 0g "9 

Riboflavin ~Vit. 822 100% 200% 
Niacin (Vit. 83) 100% 20<>'<> 
Vitamin 66 100% 200% 
Vitamin 812 100% 200,, 

NOi. • ,'7'1flt1mt ,01111:,t(ll ~k)rl@s (n)m f•I., 
$Mutftied f•, tt.tM f111, d1~f'Clf, O<et,,y (,bfr, 
v11•m•n ..... .. w,,,.n <::, e.f(,ym, "°" "11"• 

"Pet«n: Olll'v Vo~ - !»Wei on o l ,OOOc~ .,., 

Complete t he sentences to describe a start codon . 

Move t he correct answer t o each box. Not al l answers w il l be used. 

Almost every organism begins the process of prot ein synthesis w ith a ! trip let l nucleotide sequence. This start , __ ___ _______ .. 
codon is translated to a common ! amino acid : in a ll organisms. 

·-------------------' 
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